O© 00 =~ O O1 = W DN =

1

(=}

O© 0 =~ O U1 &= W DN =

10
11
12
13
14
15
16
17
18
1
20
21
22
23

©

(4) SFn4FEEIE THRAZ)—

NN
ias H S 3HEETH BN A FEETH ik
T T AR X — g ER 1, 000, 000 1, 000, 000
A IR g 60, 000 60, 000
A4 10, 000 10, 000
= 250, 000 250, 000
V7 hy— R 400, 000 400, 000
VAN Y a7 RS INE: 0 0
VAR TANVAE S 6155 0 0
T4 200, 000 200, 000
MEDLN 0 olfatrt4 (H. )
HITAEER 4 + TE AR 47,977 65, 890
&t 1,967,977 1, 985, 890
X HOHED
s H S SHEETHE BN A FEE TR ik
fa5FY 870, 000 870, 000| = = AfaHt
THAEL B 150, 000 110, 000
HEH 20, 000 20, 000
JEE B P P X A HiUR) 360, 000 360, 000 |+ H G {6}
SCELRRREL 42,000 41, 000| fti s 518 . RSB ELRR S
ErEE 0 0
B AL imE 0 0
5 10, 000 8, 000
KB EAE 300, 000 376, 090
A FHE 4, 600 2, 800
B X EE 0 0
ikt 0 0
2 BB G} 10, 000 10, 000| 7 7 7 &%
i S - I A SR 42 0 0
R 0 0
CEUED %= 0 0
7T A A X —INGRE 70, 000 70, 000|777 A
Btk BrE N g 0 0| ¥ P a=TKE
EABL, (FERFL, FER 102, 000 98, 000
Mt 0 0
R 0 0
BRERSLTIL 0 10, 000 [FE = FT:
YRR 4 29, 377 10, 000
aar 1,967,977 1, 985, 890




